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Bob “the builder” builds integers! He has his own IBM (Integer 

works like this:

 
Bob takes an Integer 

sum of some unique power of 2. So Bob can write 13 as 1+4+8. Now 13 can have one of these 3 

children:

 
13+1=14
 
13+4=17
 
13+8=21
 
 
Similarly children of 12 are: 12+4=16 

12+8=20

 
That’s because 12 can be written as 4+8.
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can do following things:

 

 

 

 

 
Ok this can go forever, so Bob never builds an integer larger than a limi

select which child to build. So if the limit is L=24 and X=12, 

from 20 just using the IBM once. Also he can build 16 from 12 using the IBM another time. 

integer can be used multiple times 

more than once.
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Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

another. Bob wants to build all possible children from those integers. But

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!
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Problem setter: Shafaet Ashraf

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 
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another. Bob wants to build all possible children from those integers. But

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!
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another. Bob wants to build all possible children from those integers. But
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Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 
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, Special Thanks: Md. Shiplu Hawlader

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

another. Bob wants to build all possible children from those integers. But

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!
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Organized By

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

another. Bob wants to build all possible children from those integers. But

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

denoting the number of test cases

. In next line there are 

representing the list Bob has in his factory.

number of times Bob has to use the 

Output 

Md. Shiplu Hawlader

Organized By

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

another. Bob wants to build all possible children from those integers. But 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

denoting the number of test cases

. In next line there are 

representing the list Bob has in his factory.

number of times Bob has to use the 

 for Sample Input

Md. Shiplu Hawlader

Organized By

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

 using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

denoting the number of test cases. Each case has two lines. 

. In next line there are 

representing the list Bob has in his factory. 

number of times Bob has to use the 

for Sample Input

Md. Shiplu Hawlader

Organized By

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

. In next line there are 

number of times Bob has to use the 

for Sample Input

Md. Shiplu Hawlader 

Organized By

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

. In next line there are 

number of times Bob has to use the 

for Sample Input

 

Organized By 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

. In next line there are 

number of times Bob has to use the 

for Sample Input

 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

. In next line there are 

number of times Bob has to use the 

for Sample Input

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

. In next line there are N

number of times Bob has to use the 

for Sample Input 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

N 

number of times Bob has to use the 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it!

. Each case has two lines. 

 space 

number of times Bob has to use the IBM. 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

consumes lots of electricity. So your task is to calculate how many times he must use IBM to do it! 

. Each case has two lines. 

space 

IBM. 

Bob has a list of N integers in his factory. In that list no integer is direct child or even descendant of 

using IBM is very costly, it 

. Each case has two lines. 

space 

IBM. 


